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Expanding and Simplifying:

* Collecti i erms

Probably the most common thing you will be doing with polynomials is
"combining like terms". This is the process of adding together whatever terms
you can, but not overdoing it by adding together terms that can't actually be

combined.

Terms can be combined if they have the exact same variable part. Here is a
rundown of what's what:

LIKE TERM - exact same variable(s)

Examples:
1) 3x +4x
= (X 2) 2 +3x— 4K+ x+9

X+ Ix ks

3)10x° —14x* +3x —4x> +4x— 6

(ox - (4 +x—G

4) 4y — [3x+ By — 2x M2y — T} ) — dx + 5]
“ty- BrtGy-20t3y7) ~tee5)
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e Distributive Property

The Distributive Property is easy to remember, if you recall that "multiplication
distributes over addition and subtraction".

Formally, this property is displayed as...

ab+c)=ab + ac

Examples:
— =
1 32x-53) 2) gg'(\2\a+4)
bx-15

FH(La
3) 7x2y(3x2y+4xy —-2y)
_QJXo[ +L%K?7L - /7L H.
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Multiplying Polynomials...

) (£ 30 +7)

—
- RL +\(X—3x~ ;\
= X+ Yy —
=2 3) (3a—4b)(2a-b)
2) (2x + 1)(7)(: — 6) - (oq\_gqlo ‘%a.\a .t.‘féa

TR e Catrlab 4 H
T g, - G

5) 2(4x—3)(2x+3)
A (8 X ~(op ﬁ)
&(‘3}1\(9;\—7>

4) (Sx - 3) (5x + 3)

SIS +ISx-ISxk~9
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/——\/’2\ —
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Squaring a Binomial

- To expand a product of polynomials
means to remove brackets by
multiplying and then simplify by
adding/subtracting "Like" terms.

- We must use the Distributive Property
to multiply polnomials.

What is the 3-Step rule??? Ex: (2x - 7)

= *( g
- 1s used when you want to square a binomial. X —Z% X 1~L(- 0’

- here 1s how it goes...
(1) Square the first
(2) Product of the first and last, then double

(3) Square the last

Another example??? Example - Squaring a Binomial.avi
K

Let's do some examples...

1) (3x-5) 2) (x 3)2 ( —-1Xx—|—3)

(r= 3)(x—3

Cix 30« +aS D(X <°x+°\)-3(7« *—3x‘><*3>
X/ ax IR -3 Tx+3x 9

- XJL‘/B)UQJ
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HOMEWORK...

- Worksheet - Expanding.pdf

Pick any 3 from each question



Attachments

Q Example - Squaring a Binomial.avi

Q  Worksheet - Expanding.pdf
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Exercise

A Review the skills needed to multiply two binomials.

Multiply.

@ (y+3)y+2
d (y=30-2
@ y—06u+T7

© +6)y—"7
(f) (a—35)(a+ 3)
D (x+y»x-—y

() (k + 1)k + 6)
€ (x—3)x+2)
h) (y—"NDy+7)

Use a diagram to illustrate each of the following.
() (x+2y)(x+2y)= x2 + 4xy + 4y?

(b) (v = ) = x* = 2xy + (©) (2x — 3 = 4 — 4wy + 7

Find the products. How long did it take you?
@ (y+3)Gy—>5) (b) (2a + 4)(3a—7)
@ (-Hy+4 (€) (x—6)(x+2)
(8) Ux—2(x+7) (h) (x — 9y)(2x +y)
(G) @+ k)6 + k) (k) 3k —2)(3k +2)

(¢) (3t +3)(t—3)
(f) (m+ 7)(m + 2)
(i) (x+ Dx+38)
) Bx—DEx+1)

Simplify each of the following.

(@) 3(x — (x — 4) (b) —4(x — 3)(2x — 5)
(d) 82y —6)CBy + 1) © —2x—y’

(g) —2(k—6)(k+8) (h) —(2m — 3)(m — 3)
(4) 26Br—92p—9) k) 2(2x — y)?

(c) 33k + 1)

() —302x — y)2x + )
(i) 3(x— 5)?

() —2a—5)(a+6)

Review the method that helps you multiply polynomials mentally.

Expand.
(@) (x* —8)(x* —3)

o (-6

(2) (ab — 6)(ab + 6)

© @y*—1)(6y*+7)

© @x—1? 0 Gy 57
1 2 ) 5 2
(0) <2x = 5) 0 <4x - 5)

Simplify. :
(@) (x —4)(x —3) = 2x —4)(x +3) (b) 32 — M3 +y) =4y — 6y +5)

(© (a—3)2a—2)+2(2a+ 3HQ2a—1) (d) 3(5m+ 4im— 6) — 2(m — 6)(3m + 7
€ (Bx—5%*—2x—5(x+5) f) 2a—1>—-(@+ 1)?

(@ 3(x—y)?* =30+ yx—2y) (h) 2(a — 2b)* — 3(b — 2a)’

7

(b) (8 + 2a)(1 + a)

Expand and simplify.
(a) (x + ) (2x = y)x +)
(¢) (3x = 2)(2* —2x + 1)

(b) (2a — b)(3a + b)(a — b)
(d) (a — 2b)(3d* — 2ab + b?)
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